Chem 105 Spring 2009
Quiz chapter 1 and Taking it further with Math 
Name: ________​​_KEY_ ________________________
Score _______/10

1/26/09
Answer the following questions remembering to report your answer in scientific notation and to the appropriate number of significant figures.
____
1.
A pure substance composed of two or more different elements is

	a.
	a homogeneous mixture.  (not separable, ratio variable)

	b.
	a heterogeneous mixture.  (components distinguishable, ratio variable)

	c.
	a polyelement.

	d.
	an atom.

	e.
	a chemical compound.


____
2.
Which of the following is an extensive (depends on amount)versus intensive (quantity independent) property?

	a.
	Volume  

	b.
	density

	c.
	melting point

	d.
	boiling point

	e.
	both melting and boiling point


3.  (1 pts) What is the name of a substance which has a fixed ratio and cannot be easily separated into their components?

Compound
4.  (1 pts) Substances which are combined in no fixed proportion, and their formation involves no fundamental change at the atomic level is known as what?

Mixtures

5.  (2 pts) Mercury (Hg) has a density of 13.6 g/cm3.  What is the mass in grams of 95 mL of Hg? In pounds?
In grams
( 
( 95 cm3 )(13.6 g/cm3) = 1.3 x 103 g
In pounds
(
1.3 x 103 g x 1 lb/454 g = 2.8 lb
6.  (2 pts) The boiling point of liquid helium is 4 K. What is this temperature in Farenheit? 
____ oC = 4 K – 273.15  ( -269.15 oC
T (oC) = 
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-484.47 oF = T(oF) -32









-452.47 oF = T(oF)
7.  (2 pts)  What is the correct answer to the following expression: (18 + 95)  0.077351? Carry out the addition operation first. 8.74
(18 + 95)  0.077351 (
(113) x 0.077351
(  8.740663
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